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QUESTION 1

Which one of the following must be cloudified first to implement the could-based network structure?
A. Core network

B. Terminal

C. RAN

D. Bearer Network

Correct Answer: A

QUESTION 2

Which of the following are members of the 5G Open Trial Specification Alliance (OTSA)? -MC
A. SKT

B. Vodafone

C. Verizon

D. DCM

Correct Answer: ACD

QUESTION 3

Which of the following belong to 5G NSA networking? MC

A. Options 2 // SA (NGC)

B. Option 3x (CP will eNodeB, UP will be by gNodeB which is directly connect to EPC)

C. Option 3a (Data rendering CP for eNodeB, UP => EPC statically)

D. Option 3 //early drop family (Every thing will be on LTE eNodeB) // Option 4 -> (CP will be NGC, UP will be shared
eNodeB and gNodeB) // Option 4a-> (Data rendering CP for eNodeB, UP => EPC statically) // option 7-> (LTE will be

dependent on 5G network.

Correct Answer: ABC

QUESTION 4
Which one of the following levels of precision are possible with the 3G+RTK function?

A. to the centimeter
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B. to the meter
C. to the submitter .
D. to the millimeter

Correct Answer: C

QUESTION 5

Which of the following statements is correct about data splitting with Option 3x? _SC
A. Bearer-bases data splitting

B. Data splitting on the gNodeB side

C. Direct data splitting by the EPC

D. Data splitting on the eNodeB side

Correct Answer: B
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